CSCI 201.002 Exam 3 Fall 2007

16 November, 2007

Name:
_Perfect Student___
This is a closed book exam!

Problem 1 (25 points)
In the table below, there are 3 method headers from the String class.  Below each method header, write a statement that would successfully call that method.  If the method must be called from an object, create the necessary object before calling the method. You may use any values you choose for the actual parameters as long as they are of the correct data type (excluding automatic type conversions).  If the method returns a value, you should store that value in a variable of the correct data type. 
	Method Header:  public boolean startsWith(String prefix)

	Example Answer:
           String letters = new String(“hi”);

           boolean answer = letters.startsWith(“le”);



	Method Header:  public static String valueOf(char c)

	Example Answer:

           String answer = String.valueOf(‘a’);



	Method Header:  public String substring(int beginIndex, int endIndex)

	Example Answer:

           String letters = new String(“hi”);

           String answer = letters.substring(0,1);




Problem 2 (25 points)

Stated what is printed by each of the programs below.  Each program makes use of the Dog class:

public class Dog { 

   private String name; 

   public Dog (String dogName) { 

      name = dogName; 

   } 

   public String getName() { 

      return name; 

   } 

   public void setName(String nombre) { 

      name = nombre; 

   } 

}
Indicate what is printed by the programs below.

dawg1’s name is bill dawg2’s name is joe
	
	public class TestQuestion { 

   public static void main(
                String [] args) { 

      Dog dawg1 = new Dog (”bill”); 

      Dog dawg2 = new Dog (”joe”); 

      dawg1.setName(dawg2.getName()); 

      System.out.println(
         ”dawg1’s name is  ” +  

          dawg1.getName() + 
         ” dawg2’s name is ” +     

         dawg2.getName()); 

   } 

} 
Answer:

dawg1’s name is joe dawg2’s name is joe


dawg1’s name is rover dawg2’s name is rover

	
	


Problem 3 (25 points)

Each of the questions below pertains to the partially written Cat class:
public class Cat { 
// instance variables 

  private double weight;
  private int age;

// methods


…

}

	Write a constructor for the Cat class above.  The constructor should have 2 formal parameters that are used to assign values to the 2 instances variables.
Example Answer:
public Cat (double wt, int years) {
   weight = wt;

   age = year;

}


	Write a mutator method that can be used to change the value of the instance variable weight.  This method should have one formal parameter.
Example Answer:

public void setWeight (double wt) {

   weight = wt;

}



	Write an accessor method that can be used to retrieve the value of the instance variable weight.  This method should have no formal parameters.
Example Answer:

public double getWeight () {

   return weight;

}


	Call each of the three Cat class methods that you have written.
Example Answer:

   Cat tabby = new Cat(10.5, 2);
   tabby.setWeight(12.2);

   double catWeight = tabby.getWeight();


Problem 4 (25 points)

Write a segment of code that does the following:

1.  Declares a one-dimensional array of 10 doubles.
2.  Sets the elements of that array to the following values 
     1 2  4  8  16  32  64  128  256  512
Example Answer:
       double [] myArray = new double[10];

        for(int i=0, value=1; i<myArray.length; i++, value*=2) {

            myArray[i]=value;

        }
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